www.Padasalai.Net ‘ :WWW.CBSEtipS_.in

[ﬁ@iﬁ: 9

SINTUTANGBLI 'Glllﬁg)li Cxpiiaj - 2022-23 T

- .
Gmd : 3.00 wewfl} B‘:b‘ﬂUﬂgLﬂ [Glong s QU : 100
B ugs - o
L eflurer sfleenws CoTbQsGHE muyss. 14x1=14
T smnd A={x vy, z} srerfled; A Geir- Geubmis semnilssrs o 1 st  6To0OT 6t |hstmen
(1) 8 @ 5 @) 6 . 4 7
2. P, Qupmud R steruasr stemauGusmid CLPSIT SemTThiensTT 6Teoflsl, P - (Q M R) STEITLIG;) 7
(1} P-(QuUR) 2 (PNQ)-R @ (P-QuU(PP-R)@4) (P-Q)n(P-R)
3. ;—=0.142857 sreafled §7-m WLty sredran? |
(1) 0.142857 {2 0714285 3) 0571428 (4) 0.714285
4. G = WP frfle X = —omemee 7
2 4 1 5
M 3 (2)‘ 3 (3) 3 (4) 3
5. P-2)(y* + 1) erety LsbmIiLS Cammeanufier Lilg ‘
1y 9 @ 2 @ 3 4 6
6. (2-3x) @ear uFfuh ————- ..
() 3 | @ 2 e el
7. f’ﬁ@é&asrrﬁfﬂUE}Jﬁ}gﬂﬁh 2x -y =6 @it Siiey e1g?
M (2.4 @ 42 -3 Gy - @) (08
8 Qrsio® usn erersaflsr 15Qum.s :
(M - 2) 0 ' 3 1 4 2

9.  emiegrsET epmesll st so@iosfis St FmisGmD G
(1) Eenewrsmin LNLCY Glesususd e (2) Gosisusi ShE0ITSD FFITD gy

(3} samb _ ' (4)  [EmemTEnD opema) FgMD oycew
10 weCsmamradler GCamevmssr (3x - 40)°, (x + 20)° wimid (2x - 10)° sTeafled x Ly
(1) 400 @2 3s5° (3) 500 (4) 45°
N alL pmersder gm Camsmr Slerey 75%ataflsd et Gomevmeellsr oysmay
(1} 100° 2) -108° (3)y 85° (4) 90° .
2. (-5, 2) upmud (2, -5) erery  Usafleper —m———— SEWLILYD. ,
(1) a6r srhugduisn 2 wpeomGw I, 1N srpuGEuis
(3) emGu U, IV arLgEufd @ wpeopGw IV, Il smugEufo
13, (6, 4)wihmpd (1, -7) sy dhy Ustreflssenar Gevsmmagin Com O gimmm X ods snig ailflagdi NS,
)y 2:3 2) 3:4 @) 4:7 @) 4:3 ,
14. (-a, 2b) wmmud (-3a, -4b) L& Lsireisemar Esmemrd @t Camr (D& gistonig o B sTafliurerg)
(1) (2a,3b) 2) (-2a,-b) (3) (2a,b) (4 (-2a,-3b)
' , ued - o o :
dmauGugd 10 damssemée almwsfssa.
eflory ereor 28 slLmu eflerm : - - 10x2=20

15.. n[P(A)] = 256 areeflsd, n (A) @& Gstore.

16. A={6,7, 8, 9} ummub B = {8, 10, 12} sresfléd A A B shiresiores, ' :

17 n{A) = 300, n(A L B) = 500, n (A~ B) = 50 wahygud n (B!) = 350 s1eoflet 1 (B) Ldmth n (V) snsores..

18, UGHSH0 (WemmemiL LSS Smos) Epsamenih sensafltr gew alfly Wl nl . DIEOT (Lplgemme

&6y g,s&rsmmmsml..ujsu_r oo euSULBG SIS, i) S ' in S

375 400
19 sflumisée 1=09 ' ' o
20, wiluflsir Deom 5.97 x 10% S, Heomafler Hlenm 0.073x 104 &4, Blouplsr Gurss Henm sreires?

21 (X +2) eTebrg) X - 42 - 2x + 20 Bt g, STswell 6T6oTd &L (. g -

2. faed wopulld Sie) sreme. 2x-y=3  3x + y=7 . CH/9/Mat/1

Kindly send me your questions and answerkeys to us : Padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

23,
24.
2.
26.

27.

28

29,

30.

32.

33,

34.
35.

36.

39.
40.

41. A (-5, 6) whmIt B (4, -3) Sy&EW  Yeraflasmer (96w 607 & 551 G’a;mL@Q_, QJGUEGTEU)L.. QeI 1ol

42
.43

- 44,

* b S

L Emherh ABCD (3507

www.Padasalar.Net

STalILGGes: m? + ?:1—2 -23

B Q5. SITaTTE, 35x2y3z4 49x2y'z'3,.14xyzz2 '
8O BrsTSHler Comsooriiss s eildlgin 2 4 5 7 graafleh DDDEGIE CHTT DyeTeGEmETILD SiTerT,
0D 15 QEaf o_sirer QUL &Hlsir UERSImES 12 Qs.f Qsirmeuaie) O|EONOGEITET  miemflser _

HeTD STetara;.

(%, 3). (6. y), (8, 2) iy (9, 4) svedruser uflnouns TGS Qameemiy Elevsrrsradar o sfms srenflcy
X ommud y @6 ki semens S60TS, .
RO YWSGarmmsliT pRSGHM 6 wiow (4, -2) uhmid gyt G, Uevsomisraflssr (3, -2) wimr

{5,2) stouflsy CLOGBTMIT6LIGE) (LpemeeriijeirarflemiLies ITEOOTS,

. | UGS - §)
TmeuGugid 10 eflarré & s e aflew L wefl& sayb.
oflarr erolor 42 &CLmu efery, _ , 10x5=50
GlsuetarL_rimemem’s LWSIUESSHS erfiumt (A U B) = Al A Bl '
1000  elsusmilsafl_ih BLESULLL oy i6feh, 600 eaflusmfissr Qe AL greapn, 350 -
6201 621 & 1T 119\ o, 67 Caparg vl Al L greain, 280 eusTfast wesrd Gomardm
vl L e sy Qg fefl & seori, Cuogud, 120 eflsugmsesr CE6d  wmHmin Gapeure,100
et e & rud) & 6fr GCauare  whml wEenECemar, 80 oflusrullgear Qe L[ [ILD
W& eT&Gemeah viflieemamupns LU Lesrif, Qo aflsusmisiun Gl et aumnflsh GONES S5
8G vdlyrug vli Qeiigert sTeaflsd, epetrpy uifitsmerutd  LAALL sl eusmife e

r eTeuoTennl|Sem ehemiLIch HITEUOT .
3,

amsuflenaullsd stupgia: W2, 21, 43
V-2 _

o S a7 +b  srafled a WwHm b er Ln;f,]ﬂuaasmmé;_ FT600T S,

3m+2n -4l uds oyeTey Qe SATSET LIiLeTey Sissores,

- SNBSS,  X° + X2 - 14% - 24

GDISGU CUmES Ymmenid LETUBGSE Sids.  6x + 7y-11=0; 5x+2y=13

(x+a) {x+b) (x+c‘} = x7 + 14x2 + 59x + 70 aTeflsd, SLpdaesTeIhmeD &Iy smevrs.

Matbro (i) —+—+—(i)a2+b2scz2 1 A Db, T ‘
a b ¢ bc  ac ab

@i Gemearesys s TEMIUSSHHIGHT Foh — Hlieye,

U5l Qar@éein G

SO Comemmmsnsmuyh amesors,
A(32),B (0, 1) oimid C (0, 3) syl Usirafleseir QG FULIES WECaTamSme gsmma'a@ﬂ: ST60T Blieyes,
QO YECEToTSHeir Ldsmisaflsr SOCUsTefsar (5, 1), (3, -5) wimid (-5, -1) srenflsd, oyfia
(p&ECamemGRT (psmestasler QS QFmenessemard: airaims,

uresaigemTes (MGG yeraflseflsr QWS QTenevasemerss &meirs,
A={xf—_35x<4, X€ Z),B={x/x<5 xe N}. C={5,-3 -1,0 1, 3} eterflev, A (B U C)=(AnB)u
(A N C) erstrusneé arflumi, ' ‘

| o ueh - . | |
S|EM e S gl 616 1T & &5 (615 & (1 eflentwafl&eay, 2x8=16
3  APQR ¢t Q&G () eniowh BUSTIE. SIBET LdEhEsT PQ = 8 Qraf QR = 6 G&.f; RP = 7Qg.f
S 360 6u g =

b} AB =6 Qa.f; ZB = 1100 unmin BC = 5 Qg.if TN SeTRISMET o enii AABC SUEWITTh
BT SSSHHCHN G eniowh 6UEHTE, ‘
8 y=4x:1@6r sy V1200 r: T
- Sjag
b)  eusmyuL Geonle Side., x -y=0,y+3=90
CH/9/Mat/2

e b s e ey i L TR Ty e et S s Clues s sl e S e ey

- i : alai.net@gmail.com
Kindly send me your questions and answerkeys to us : Padas @g


https://www.padasalai.net/
https://www.padasalai.net/

